
HOTS (Higher Order Thinking Skills) 

Q.1. Rahul tries to pull out a grass and a rose plant from the soil. Which one will 

he be able to pull out more easily and why? 

Ans. Rahul will be able to pull out a grass plant more easily because it has fibrous 

root which does not go down much deep in soil. 

Q.2. Is a mango sapling a herb (it has a green stem like herbs)? Give reasons to 

support your answer. 

Ans. No, it is not a herb because sapling is a stage in growth of the plant. A mango 

sapling would grow into a tree. 


